2001

15

2006 3 31 H

D
LP
LP
2 =+30cm
@
LP
) p

LP

1.5km><2_5km

2)

DEM

=+15cm

DEM




(m) 0.503 0.859 0.884 | 0.873
______ () -0.033 -0.181 -0.370 | -0.250
12 2
13/13 (100%)
10
_<_>_ 8/13 (62
u 8
6 *
* *»
4 172
3/13 (23%)
2 0‘ *»
*
0 ‘ ‘
0 2 4 6 8 10 12 M
LP ( ) 2m
DEM 25m
1/2500
2003 15cm H13 16 401
169
%
% %
DEM LP 23231  87T% [3416 13% | 6974  26%
DEM 20434 7™ |6216 23% | 8317  31% ce 77 13
13
14
0.795
10 (m)  0.503>< m
-0.033)>< 1.953
JR——" ( ) )
LP
13
1/2 3 23
8 62
(X3 7% ?%c & 7 DEM 1/2 2
2)
GIS
(2) GIS (X3 7% & ?%c & 9

GIS




€)

3

11 14

13 16

Slide
Fall

D

Fall

73.5

2 23

10 16
Slump
Slide
Fall
521
55
16 10



100

A
oo eH10-15 s
© H10-15 R
80 5 4H16 <
0622 4 81 85 £ 0 Lt
0147 | 0.769 34 238 272 - . a B
0079 17 147 164 o % LI Looe
0789 2 18 20) = 50
0167 | 0956 32 227 259 0 }_J o oa
-0113 21 221] 242 o d * 4 ‘0 . A
30 A
T 40 344 384 . R
0113 15 127 137 20 + s
ooss| - 13 134 147
-0022]| 42 332 374 10 a *
0503 o 23 119 142 0 SR . ! . :
0188 | 32 347 379 0 50 100 150 200 250 300
-0.200 6 63 69 T=72 (mm)
0284 | 0484 12 67 79
0023 37 336 373
oare| o 52 371 423
0771 3 95 98
0.166 10 66 76 .
0063 | 0224 12 97 109 R
-0.058 33 303 336 PR
£ * >
ooeL| o 24 227 251 £ . R
0057 31 239 270 )Y . ®
1017 13 173 216 o . .
1736 W .
0.720 12 293 305 =
55 466 521 R
Ll ’\..'\ '
0.35 % A\
*
030 P K3 L s
025 b 200 250 300
T=72 (mm)
020
10 16
015
X
RErH(Ol Mg+ Oz Mgt +00 R =2l T
o0s | =057 T=(0.54m) n
0.00 1
X 72 Y
1.5
@ X
Y
CL
72
1.5
CL
) 10 15
16 93.8
24
16 10
400
521
30
16 1
H16 10 22 23
27
99 16 10



D

2)

3

4

CL

Web-GIS

Web

GIS
)] HP  http://ww.sabo.or.jp/
2
= , No.569,
pp.125-130, 2003.7
3
No.290 pp-89-97 1972.10
4)

, 2000.3

I e e e ]




